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Previous Homework

 

Q-7: A =
�

�
+

�

�
 , B =

�

�
−




�
, c = x − y, D = px + qy

(A) If C = 2, x + y = 6 , what is the value of 4xy ? 2

(B) A = 1 and B = −1,find the value of (x, y) by using the method of substitution 4

(C) If C = 2p and D = p� + q�, find the value of x, y  by using the method of

elimination. 4

Solution
(A)The given equations are

C = x − y and C = 2 ,So, x − y = 2 and  x + y = 6

∴ 4xy = x + y � − x − y �

= 6 � − 2 �

= 36 − 4

= 32

∴ Required value 32.



Previous Homework
(B)The given equations are , A =

�

�
+

�

�
 , B =

�

�
−




�

Here , A = 1 and B = −1,
�

�
+

�

�
= 1 … … … … … … … … (i)

�

�
−




�
= −1 … … … … … … … (ii)

From (i),we get 
�

�
= 1 −

�

�
⇒

�

�
=

�&�

�

⇒ y =
�

�&�
… … … … … … . (iii)

Putting the value of y in (ii),we get 
�

�
−



(

()*

= −1 ⇒
�

�
−


 �&�

�
= −1 ⇒

�&
�+�,

�
= −1 

⇒ 22 − 9x = −x ⇒ 22 = −x + 9x ⇒ 22 = 8x ⇒ 8x = 22

∴ x =
��

,
=

��

�

Putting the value of x in iii , we get

y =

22

3
22

3
&�

=

22

3
22)4

3

=
��

�
×

�

6
=

��

6

∴ Required solution is : x, y =
��

�
,

��

6
.



 

(C) The given equations are , C = x − y and D = px + qy

if C = 2p and D = p� + q� ,

x − y = 2p … … … … … … … . (iv)

And px + qy = p� + q� … … … … (v)

Multiplying (iv) by q and then adding with equation (v), we get

qx − qy = 2pq

px + qy = p� + q�

qx + px = 2pq + p� + q�

⇒ x p + q = p + q �

∴ x =
=+> *

=+>
= p + q

Putting the value of x in (iv) and we get,

p + q − y = 2p

⇒ −y = 2p − p − q

∴ y = q − p

Required solution is: x, y = p + q, q − p .

Previous Homework



POLL - 1 

Previous Homework

Which point satisfied this equation 2x − 3y = 18? [D.B.-18]

(a) (−3,4) (b) (−4,3)

(c) (4, −3) (d) (3, −4)



POLL - 2 

Previous Homework

Solve the following equations

x − 2y = 0 and @ + A = 6 ? [Cu.B.-18]

(a) (4, −2) (b) (4,2)

(c) (−4,2) (d) (5,1)



POLL -3 

Previous Homework

if  x + 2y = 6 and x − 3y = 1 , whEF GH FℎJ KELMJ NO 
�

�
? [Ctg.B.-18]

a
�

�
(b) 

�

�

(c) 4 (d) 5
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What will we learn from 6.2? 

Simultaneous 
equations of 

real problems

Graphical solution of 

simple simultaneous

equations 



Simultaneous equations of real life problems

Formation and solution to simultaneous equations, we can solve many problems of real

life . We use more than one variable in many problems . We form the equations using a

separate symbol or each variable . In this case, the number of symbols used to form the

equations is equal to the number of variable . Then, by solving the equations

simultaneously, we can determine the value of variables .



Simultaneous equations of real life problems

If the sum and the difference of two numbers are 60 and 20 respectively ,

find both the numbers



Simple Simultaneous equations



POLL - 4

Simple Simultaneous equations

If sum and difference of two number are 14 and 2 respectively ,find both the numbers ? 

[Ctg.B.-18]

a (7,7) (b) (8,6)

(c) (16,2) (d) (9,5)



POLL – 5 

Simultaneous equations of real life problems

The perimeter of a parallelogram is 30cm and if the ratio of adjacent sides is 3:2, what is the 

length of the smallest side ? [Dnj.B.-18]

a  12 (b) 9

(c) 6 (d) 3



Graphical solution of simple simultaneous equation

Ideas about abscissa , ordinate and co-ordinate  



POLL – 6

Graphical solution of simple simultaneous equation

Which point lies on X axis ? [D.B.-17]

a (3,3) (b) (−3,5)

(c) (0,4) (d) (4,0)



Graphical solution of simple simultaneous equation  



Graphical solution of simple simultaneous equation



Graphical solution of simple simultaneous equation



Graphical solution of simple simultaneous equation

Solve with help of graphs:

x+y=6

x -y=2



Graphical solution of simple simultaneous equation



Graphical solution of simple simultaneous equation



POLL – 7 

Simple simultaneous equation

What is the distance of point A(3,4) from X axis? [Dnj.B.-17]

a 3 (b) 4

(c) 5 (d) 7



Creative Question
QJRJ 9@ − 7A = 13 and 5@ − 3A = 9 two simple simultaneous equations .

(A) Which equation is satisfied by this point (0, −3) ? 2

(B) Solve these equations by using the method of elimination . 4

(C) Solve the equation with the help of graph and find out the abscissa and the ordinate 

of the intersect point . 4




